
Some Plots

Alicia Postuma 28March 2024

University of Regina
KaonLT Experiment, Jefferson Lab Hall C



AsymQ2=3, W=3.14
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AsymQ2=5.5, W=3.02

3− 2− 1− 0 1 2 3

φ
20−

15−

10−

5−

0

5

10

15

20)
-2

 1
0

×
B

S
A

 (

2 0.21 GeV −-t:  0.09 

3− 2− 1− 0 1 2 3

φ
20−

15−

10−

5−

0

5

10

15

20)
-2

 1
0

×
B

S
A

 (

2 0.80 GeV −-t:  0.45 
3− 2− 1− 0 1 2 3

φ
20−

15−

10−

5−

0

5

10

15

20)
-2

 1
0

×
B

S
A

 (

2 0.28 GeV −-t:  0.21 

3− 2− 1− 0 1 2 3

φ
20−

15−

10−

5−

0

5

10

15

20)
-2

 1
0

×
B

S
A

 (

2 0.35 GeV −-t:  0.28 

3− 2− 1− 0 1 2 3

φ
20−

15−

10−

5−

0

5

10

15

20)
-2

 1
0

×
B

S
A

 (

2 0.45 GeV −-t:  0.35 

2/6



AsymQ2=4.4, W=2.74
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PARTONS update

Was finding “statistical" variation between theory points −→ had to
increase number of calls toMonte Carlo
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PARTONS vs data
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Next Steps

■ Finish last two settings
■ Error analysis meeting
■ Q2 scan
■ Re-run PARTONSwithHT ∗2
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